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1. SN A, B2 P(AB) = P(AB), HP(A)=0.2, Il P(B) =

0, x<-1
0.3, -1<x<?2

2. WML E X Ak F(X) = X B AR
0.8, 2<x<5
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3. WHEHLAE X, X,, X, ML, Hd X, ~ B(100,0.3), X, ~ N (0, 22),

X O 3 MR A 0Y = X, —2X, +4X,. 1, E(Y)= . D(Y) =
—AX
4. BHELIHLAS E X O R f (X) = {ﬂeo *> g L HE(X?)=2,
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5. BENVAERE X, Y MEAS BRI —5 45, P(X =k) = P(Y =k) = (k+1)/3,

k=0,1, WP(X #Y)=
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2. WBc A, W SR )
(A) P(AB)=1-P(A); (B) P(B—A)=P(B)-P(A);
(C) P(B|A)=P(B): (D) P(A|B)=P(A)
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4. VORI E X WEEREAE f (—x0=1 (X, F (x)=2& X K51 s,
MR B RSL A ( )

(A) F(-a) = F(a) (B) F(-a) =§F(a)

(C) F(-a)=1- F(a) (D) F(—a)=%—F(a)
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6. & X ~U(0,4), MAMHMEP(X <2|X>)=( )

(A L ) L © 2 (D 1
3 2 3
T.WE(X)=4,D(X)=9, MUILERAERMHER p=P{O<X <82 ()

(A) p>9/16 (B) p<9/16 (©) p>7/16 (D) p<7/16
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2. 8P 2 AN FAERAN 3 AN RER, BRI AR 1 ANER, AR UCHU 9 SRR A 2 O
JBURTHCERD, BHARRE AL, & X OSBERREL R (D X oAl (2) X #5)
ks (3D X W7

acosx, [x< z
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3. WRENIAE X BAMREL ¢ (x) = ;

4. BBEHLAS R X AR R T, (X) = {

T

0, |x| >
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(1) KA%amE: (2 kX %EBI‘Q(O,%)WE‘JM%: (3) E(X+1).

x/8, 0<x<4;
0, HoA,

REGHLARRY = e — 1973 e BUNHE A 3% L b 4.

V. A8 (B/ME 10 4, 3£2040)

1. WML (X,Y) EXIE D EIRMB A6, b Dhy=XYy+X=0,X=1FE%
R (1) X MY [EAZRERE (2) X MY Ba%ati, e X MY 25 Mor

(3) W E(XY) HIME .
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2. W gEREALE R (X,Y) AN 1 11/6 1/9 1/18° X H5Y Har.

2 |1/3 « p

Re (D a, BHUE: (2) KT X MY KA (3) Z =X +Y KAk
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Fi. EEBRE (1B, 3£540)

WX5Y Z2RENAZRE, iEW: D(X -Y)=D(X)+D(Y)-2[E(XY)-E(X)-E(Y)]



